e —

TSSPDCL: Junior Lineman Written Exam-2023 Question Paper with Key

.!’!...'.....'..............................’..’........'
i i
o Lo Held on 30-04-2023 = 2w
°o| ®

® 9)) ol e
#® Question Booklet Code . Tl @
o Question Booklet SEREE

N &

: | A 101213 - 2023 AE
® 2| ®
[ ] °l e
: ®
H Hall Ticket No. -
[ ] A n .
|
* , ®
# Name of the Candidate _ . R ®
: ®
@ Date of Examination - PN :
L4 @
: OMR Answer Sheet No. = — . o A :
® ®
E Signature of the Candidate with Date P :
®

: Signature of the Invigilator with Date S :
L ®
® Duration of Test : 2HOUES . rremmomene N o Max. Marks : 80 @

Instructions :

1. This Question Booklet consists of 80 multiple choice objective type questions
to be answered in 120 minutes. PART — A (Electrical Trade) consists of 65
Multiple Choice Questions and PART - B (General Knowledge) consists of
15 Multiple Choice Questions.

®

L

L

L 4

®

®

.

e 2. Every question in this booklet has 4 choices marked (A), (B), (C) and (D) :
: for its answer. ®
e 3. Each question carries one mark. There are no negative marks for wrong :
o answers. v
: 4. This Booklet consists of 24 pages. In case of any discrepancy or defect in the :
® booklet, the same may be informed to the Invigilator and new Booklet of same ®
: code may be taken. ®
e 5. Ensure to bubble the appropriate Question Booklet Code (A/B/C/D) :
e on the OMR Answer Sheet. ®
: 6. Answer all the questions on the OMR Answer Sheet using Blue/Black ink :
® ball point pen only. ®
: 7. Before answering the questions on the OMR Answer Sheet, please read ®
® the instructions printed on the OMR Sheet carefully. :
® 38 The OMR Answer Sheet should be handed over to the Invigilator before ®
: leaving the Examination Hall. The Question Booklet is to be retained by :
® the candidate. ®
: 9. Calculators, Mobile Phones, Smart Watches and any other Electronic ®
e gadgets are NOT allowed into the Examination Hall. :
: 10. The seal of the Booklet should be opened only after signal/bell is given. ®
e 11. Incase of any discrepancy in Telugu translation, English version shall be :
: treated as final. ®

...............................................0........
1- K


8923917
Typewritten Text
TSSPDCL: Junior Lineman Written Exam-2023 Question Paper with Key 


8923917
Typewritten Text

8923917
Typewritten Text

8923917
Typewritten Text

8923917
Typewritten Text
Held on 30-04-2023

8923917
Typewritten Text


A

101213 - 2023

PART - A
058y wair® B¥oahod’, &8 eststsy BEPpand EArE ___a AE°GESS ©odI00 500ak0
es58)50830i5 536 GATE 63 Feres es8eloh IrGed” 0 R SES3> oBT00,
(A) essotso, esosso EAE (B) edodo, 2oy
(C) oy, €9:30¢80 Bz (D) KD&’J&, KDRS&
During reverse bias, an ideal rectifier diode offer resistance and an
ideal zener diode offer resistance in their normal operating modes.
(A) infinite, infinite (B) infinite, zero
(C) zero, infinite (D) zero, zero

DS 35 3IpaHE ooty e eeSHeS 140 V epes 2.8 SEo” difew 303 TG Deos
Qo 9

(A) 220/y2 V. (B) 22042 V  (C) 220V ©) w5

The average output of a full-wave rectifier is 140 V. Then value of average input
voltage over one cycle is AR
(A) 220/42 V. (B) 2202 V (C) 220V (D) Zero R

1-¢ AC Sare0 50800 BhyS 6 gl @sosorRotads 5 SCR 11/ 5 3dabde §eaod” 3116
O5EB0B. @i &8 SE0E” (35 S'ee0 Jods 2

(A) 36° (B) 144° (C) 54° (D) 324°

A single SCR connected between 1-¢ AC source and resistive load is triggered
at an angle of /5 radians. Then, conduction angle in one cycle is
(A) 36° (B) 144° EHE (C) 54° (D) 324°

Rz
LC 28606 77505 15657 56550 8rDrotoisadd 250 mH 30655 500a» 1 pF 3rbesb
BSTOBEOTT @RNOFTONEG EoLTaN. Bond & oo @), Frsidson 83osod.
(&) 200 Hz (B) 2000 Hz

(C) 2000 rad/sec. (D) 200 rad/sec.

An inductance of 250 mH and a capacitor of 1 uF are connected together in
parallel to create an LC oscillator tank circuit. Calculate the frequency of

oscillation. @
(A) 200 Hz (B) 2000 Hz (O] 243
(C) 2000 rad/sec. (D) 200 rad/sec.
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5. esoRpahbm 332 BJT GJ8° 533500 2 EAE
(A) o> Bo oo ST (B) %e5-esH @roso Somesdd ERe=z
(C) S0y @roso ST (D) Sothys 55005 5e5-esp Prodoen
A BJT acting as an amplifier will operate in
(A) Active region only (B) Cut-off region only
(C) Saturation region only (D) Saturation and Cut-off regions

6. JoFLeE 505508 Do Eero B B WG SFET 0 €008 ?

(A) S @y I8 S0 B (B) S0 Goon 366D

(C) TG oo, SgSoreo s (D) Sge

In Electrostatic instrument the deflection angle is directly proportional to
(A) inverse of voltage (B) square of voltage BAE

(C) square root of voltage (D) voltage

ElRe=?
7. £3589 &0 @), ¥ 100 Totd &sdBeoren 2 ibéod Er8oE” $58050 B30 Gk Sareo Sodk
4 Doex 508" GosRaron 30t GsoSeos FOY Bods E38Beo 2 2 P50
(A) T S0 (B) areord> 6y (C) &§e3€6&6 (D) Bodosen
The candle power of a lamp is 100. Two plane surfaces are placed at a distance

of 2 m and 4 m away from a source of lamp. The illumination on the second
surface compared with first surface is

(A) One-fourth (B) Four times (C) One-half (D) Twice

8. FAaHo esd Bvos’
(A) BFe:E 008 S BATTDy) ePSHTGES 20X £3§ Dobecotod
(B) 372eob 26y O%:E BTGy staavcsaéée DSTOBEONT 30RN0FTIOTEG &0t00d  EIAME
EAE (C) 3e:b 8355 3L 0ar3S,) @rS 68 2608 53§ Sabedod $
BEE (D) 37e:b 855 O8 6a3Sy eroy 68 dsrossor K38 Sabwcosod
In a sodium vapour lamp
(A) Capacitor is connected in series with high leakage reactance transformer
(B) Capacitor is connected in parallel with high leakage reactance transformer
(C) Capacitor is connected in series with low leakage reactance transformer
(D) Capacitor is connected in parallel with low leakage reactance transformer

9. 0§ 50§ Goo) eiddssn B Sood S§ouEs
(A) 258 (B) ess58 (C) By (D) eseb3ed

The purpose of surge tank is to protect
(A) penstock (B) dam (C) turbine (D) alternator

A -4- K
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ssotses 3-0, 4-36 AC igSs8, oo RYB. R 68 o8, 582 Vi, = 230 £ 0° V e00ss
ey Y 58 S00ako B &% ooy, g E§E
=2

(A) V, =230 £120° V 50805 Vi = 230 £120° V
(B) V, = 230 £ ~120° V 005> Vi = 230 £-120° V
(C) V, = 230 £120° V 5o8asw Vi = 230 £-120° V

(D) V,, = 230 £ -120° V s06aio Vi, = 230 £ 120° V

In a balanced 3-¢, 4-wire AC system, the phase sequence is RYB. If the voltage
of R phase Vi = 230 £ 0° V, then the voltage of Y phase and B phase are

(A) V= 230 £120° V and Vg = 230 £120°V
(B) V, = 230 £ -120°V and VB =230 £-120°V
(C) Vy = 230 £120° V and Vg = 230 £-120°V

(D) V, = 230 £ -120° V and Vg = 230 £ 120°V

1-¢ ErSPrEE ooty FPSogs0 Jsycsy HBROM GOt ?
(A) I3pEB o°R SPo = YOS o

(B) 25138 O°R S0 < R8RS S50 Sodcko o°f Sgo > REIS Sgio
AR PO < PO PO > FORN e

E=
>

(C) 5pad oo Se SFED < YOS S0

(D) I5pE8 oA SPo STES> > JEB0S o

The efficiency of a 1-¢ transformer is not maximum

(A) when copper loss = constant loss

(B) when copper loss < constant loss and copper loss > constant loss

(C) only when copper loss < constant loss
EAE
Bl

-5- K
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2, E3¥ I, 30000 I, 0% E3060 300050 8°6 8805 1- 3T erSr6 w08, 355808 638"
250650 FodboRE’ (320D ErEAE K005 Jo ?

T

(A) -1, B) 1, @) 1,-1, @) 1,-1,

If1, and L, are primary current and load current of 1-¢ auto-transformer, then
the current flowing in the secondary winding in the opposite direction of primary
current is

(A) -1, B) 1, © 1,-1, D) 1,-1,

2.5 ©does8 320000 T Doerd (K8 erSyPreyS (CT) So8ako FEYAS &6 (PT) B0y,
o0 BBak Jodoo eRoFTRosnd doeran. wiEhor CT f 3675 Sabed
$580%0 PT 770 250ts808" £ 087,565 0085630008, e95y0

(A) CT 508050 PT B0t 0o %ﬁ
(B) ,CT 508050 PT ot Fe&:Hsron ’
CT %008 5°0 PT Fescoodreso
(D) CT resoondFs> 570 PT aredeood
An ammeter and voltmeter are connected to respective secondary windings of

Current Transformer (CT) and Potential Transformer (PT). If accidentally CT is
short circuited and PT is open circuited on their secondaries, then

(A) Both CT and PT are not damaged EAC)
(B) Both CT and PT are damaged R
(C) CT is damaged, but PT is not damaged
(D) CT is not damaged, but PT is damaged

-6- K
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14. L, 300000 L, §6 &5 RSP0 By,

15.

(A) LV 3odoh L, & £ 8 sy aotood HV Podofi L, §6 & & éoeod
(B) LV Zodof L, & 5% & {5 esot000 :0ctin HV Dodofl L §6 & SHom éi0e0B.

(C) HV Bodof L so00ai» L, &6 & sifor soexood %
B2

@) LV Jodoli L, S8k L, %6 & SO &oenod

IfL, and L, are two limbs of a core type transformer, then

(A) LV winding is nearer to core in L, and HV winding is nearer to core in L,

(B) LV winding is nearer to core in L, and HV winding is nearer to core in L,

(C) HV winding is nearer to core in L, and L,
EAE

(D) LV winding is nearer to core in L, and L, =

3-0, 10 HP, 230 V, 60 Hz, 6 26 Y 53§ Sabexisss 50c:&S 3orerE 1160 rpm ¢ $¢3200.
&e:6 EBoen SBaok), (78R ot 9

(A) 2 Hz (B) 62 Hz

(C) S8 Hz (P) 60 Hz

A 3-¢, 10 HP, 230 V, 60 Hz, 6 pole Y connected induction motor runs at
1160 rpm. What is the frequency of rotor current ?

(A) 2 Hz g,gg (B) 62 Hz
(C) 58 Hz ’ (D) 60 Hz

1

1
16. 35 SrHodS 738" Tty doed 2 ELI2 ; ECW

(A) T°¢5, &S S B) TS5, TS S
(C) &8, &S SeoRmr (D) &S, Tred SBodre

1 1
What are units of the following ? ELIQ ; ECV2

(A) Watt, Joule respectively (B) Watt, Watt respectively
(C) Joule, Joule respectively (D) Joule, Watt respectively

-7-
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17. Sg2 sorereo V| $00a0 V, 1§ 6,565 eond 2o 1) 8D orgor gisgexciodiod.

18.

19.

EAE
Ve —— Re —_V,
il -
(A) I, = LR /(R, +R) B) I, =-L,R,/(R, +R)
(Of 1, = LR /(R + R,) D) 1, == 1R /R, + R)

If the voltage sources V, and V,are short-circuited, then the current I, is given by

\ = =V2

Vs T |:2
A1, ~LR/(R, +R)  mam  (B) [, =-LRy/(R, +R)
(€)1, =LR /(R +R) 5%3 D) I, =-LR /R, +R)

650 Ah 50As 12 V 56 er5e906° Jexxdatoendsss #§ Jos 2
) 66.07 MJ (B) 340.87MJ (C) 28.08MJ (D) 127.09 MJ

What is the energy stored in a 12 V car battery rated at 650 Ah ?
(A) 66.07 MJ (B) 340.87MJ (C) 28.08 MJ (D) 127.09 MJ

4.5 Ah, 1.5 V 0365 ergeod 100 mA 9 080356708 o 985005058008 2 EAE
{A) 3 Kotoeo (B) &5 8% S5o80%0 17 Kotren B
(C) a5 &% 30805 21 Koeoew (D) 15 Kotoew

How long can a 4.5 Ah, 1.5 V flash-light battery take to deliver 100 mA ?

(A) 3 hours (B) One day and 17 hours

{C) One day and 21 hours (D) 15 hours

&5 ergead amp-hour rsogso $508ak» watt-hour FSogso S 90% So8cs0 80%.
3¢ D60 TQoR TS 3o0a dKew dagoh S'Ge A
(A) 1.125 (B) 0.889 _AC) 1.422 (D) 0.790

The amp-hour efficiency and watt-hour efficiency of a battery are 90% and 80%
respectively. Then the ratio of average charging voltage to average discharging
voltage is

(A) 1.125 (B) 0.889 (C) 1.422 (D) 0.790

-8- K
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21. oS 2o05E Grgonb Jodof B3 EREIFALL ?
(B) Heasss (sroedoh) D67 oises Cl20)
O]

(A) %8 s°6%0 oSer0d
(D) 5052 ST SRosSED3

(C) o°h SLy SRS

Damper winding in synchronous machine is used to
£ ] (B) prevent hunting

(A) increase power factor [
(C) decrease copper loss }gﬁeﬁl (D) decrease iron loss

~

22, 205 3rerb Gt Eior 0¥ 038y Jando oo BAV 858y JabS
(B) & 530659 2oues

(A) SEH0v OF ESTR
EEE (C) S 5305 BRoBED3 (D) &'¢:6 Bodohs” &0
EWEE The direction of rotation of a synchronous motor can be reversed by reversing the

(A) Supply phase sequence (B) Increasing the field current

(C) Decreasing the field current (D) Resistance in the rotor winding

23. 5 3ol FS@ES WS E5ef’ K00 T3 Fesed adntiod.

() | dof as3rned (i) | DC s
(b) | gocssS (ii) | AC 50835
(€) | 568 »5S (ili) | DC 308050 AC
(B) (a) - (ii); (b) — (i); (c) — (i)

(A) () ~ (ii); (b) - (id); (c) — @)
(C) (a) — (iii); (b) — (i); (c) - (i)
Match the following type of meters with type of measurements.
S
ElRe2

(D) (a) - (iif); (b) — (ii); (¢) - (iii)

(a) | Electro-dynamometer (i) | DC only
(b) | Induction (ii) | AC only
(iii) | DC and AC

(c) | Moving Iron

(A) (a) - (ii); (b) — (ii); (c) - (@)
(C) (a) ~ (iii); (b) — (i); (¢) - (iii)
24. 53¢ T 9§00 er§ wand 6 ¢30 Moo Ay, a0 308050 1 38 EBoen esyes 588 05

(B) (a) - (ii); (b) - (); (c) — (i)
(D) (a) ~ (iii); (b) — (ii); (c) - (iii)

DoeogE’ Dewoss
(A) T, o1 (B) T, <6 (©) T =12 (D) T, e 67
Ell o) If T, is deflecting torque, 6 is angle of deflection and I is current, then in a
*~ Moving Iron meter
(A) T, I (B) T, 0 (C) T, el (D) T <8
-9- K
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25. 200V, 1 A &%0 orgoe dedocsedlzy 3o 38 2200 eXsBos8” eowd, 38 7S5 MSCP &

ESoRTSods.
(A) 1.143 (B) 175 (C)y 0.875 (D) 350
If the total flux emitted by a 200 V, 1 A lamp is 2200 lumens, find MSCP
per watt.
(A) 1.143 (B) 175 (C) 0.875 (D) 350 %
26. & (300 TS DO GEryE e300 ¥§ JBO DS HET SrGyRcosod o
) 3@ D08 36 Hnd (B) 5% desogh 36
(C) &5 DCSJSZS %T’.J(S (D) e 360595 ?8?/.)(5
In which generating station steam energy is converted into electrical energy is
@AE (A) Hydro-electric power station (B) Wind power station
@E% (C) Solar power station (D) Nuclear power station

27. 28 Xf eISHR0BS LS Bk $2R0K HOBE0 SBA RO TR HEBoNEO Soed
Vg $0a0 Vp ) x = Vo /V eand, $58y08e S dabodes 3er asetsood.

1
(A) (1-x*)x100 (B) (i—1)x100 (€) (1-x)x100 (D) (?—ljxloo

If x=V_/ Vg where Vg and Vy, are respective sending end and receiving end
voltages of a short transmission system, then percentage voltage regulation is

given as _}L/{/IOOV T

.',r' ' 1
(A) (1-x*)x100 (B) G—l)xloo (©) (1-x)x100 (D) (?—ljxloo
28. 30850 HgHED S MHY0D, 336 VFSo 3536, 6D esrEER0N DgrKo $od By T
St0Trg00 26 9
(A) ?055ﬁ5 (B oBe6 (C) od-erb (D) L@é&@“é&s

The device locates the fault on the system and isolate the faulty part from the
healthy section in a power system network is

(A) Switchgear (B) Isolator (C) Bus-bar (D) Transformer
29. Srg8osd 3R 00ah (S INQED eTrrse =AM
RORErEIBES SoTeren B

(B) SoEordhd Sareren
(C) RoRmraD So80%w JoEEPalSs Sorere SEoST
(D) SoESEPA3oEE SoB0K0 WOEEPAD SaTreren SEoIM

‘ Nuclear energy and Tidal energy are examples of

Bi?* (A) Non-conventional sources

(B) Conventional sources

(C) Conventional and Non-conventional sources respectively

(D) Non-Conventional and Conventional sources respectively

A -10- K
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2.5 Ferd’ DeSos® ot Gosy, KR E'E, witen ko 300 KR E'E SEov™ 65 MW, 75 MW

508050 95 MW wond &'& s7tso

(A) 67.9 % (B) 86.7 % (C) 68.4 % (D) 78.9 %

If minimum load, average load and maximum load of a power plant in a day

are 65 MW, 75 MW and 95 MW respectively, then Load factor is

(A) 67.9 % (B) 86.7 % (C) 68.4 % (D) 78.9 % Elﬁ
==

2050 3066 DoE'SH T NLb I syt eIBTAoBIBY) ?
wﬁ 23686 Em Babedod 508 &Iy B85

(B) £568°Em Dabed Sobon S35 6T)TonT edyned

(C) woib §'GE 8oB0T0 BEND T )TN €adyIyced

(D) &'E Iyt SoD0n JES G0N GdDpeed

A synchronous motor can be used as a synchronous capacitor when it is

(A) Over loaded & not-excited

(B) Over loaded & under-excited

(C) Under loaded & under-excited

(D) Not-loaded & over-excited

Soaend e 6 IgE DC J RS S8 AC 1 5578) AC @5 §'%0 3356 Jog0E 567,53
D008 2

(A) S35 (B) 3536

(C) & 83585 (D) 5346

A power electronic circuit for AC drive which converts a fixed voltage DC to a
fixed AC voltage with variable frequency is called as

(A) Chopper (B) Inverter
(C) Cyclo-converter (D) Full Converter

oo 66 Saveds 10 HP 3068%S 3erE 480 V, 50 Hz 85 So0d 85% JrSogse So0as»
0.8 erioh 336 5568 90 Tod. TR o S SHSod.

(A) 1.05 kW (B) 1.49 kW (C) 1.12 kW (D) 1.31 kW

A fully loaded 10 HP induction motor operated from a 480 V, 50 Hz line at an
efficiency of 85% and 0.8 lagging power factor. Find the total losses.

(A) 1.05 kW (B) 1.49 kW (C) 1.12 kW (D) 1.31kW gag

1-¢ Soverb ook, (g550e5 BFS TGO 305, &Rt
(A) @So8s 508050 ©ers Jodol E3gSe 8358y Jabeso

(B) @rSogf Socsoh Glooty, EdgSes 056y Sabeo

(C) 3er8 Jodoh Ese Ediréd 53§ dakdo

1B} 3890 EIEED xS et

The direction of rotation of a 1-¢ motor can be reversed by

(A) Reversing the connections of both starting & main windings

(B) Reversing the connections of starting winding

(C) Connecting the diode inside the motor winding E‘%
(D) Reversing the supply connection Bl

-11- K
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35. p-S esglibod’ aro@ds Seao Sodoko e S'eso Ay

@) 2/p B) p/2 ©r p D) 1/p

The ratio of mechanical angle to electrical angle in a p-pole alternator is

(4) 2/p (B) p/2 () p (D) 1/p g@

36. ergeod TQof SEE0 2 Sy BELS ot od.

(BY 36353 50065 TRORE” Friogso I dotood

(B) 3530 5Boel TrQohd’ Biioaibo S5 06000

(C) RN TGS T°oRE” Tsogse ST doe0d

(D) 36308 S'ge TQoh&” Sxoaio S &0eaod

Choose a wrong statement on charging methods of battery
(A) Efficiency is higher in constant current charging

(B) Charging time is lesser in constant current charging
(C) Efficiency is lower in constant voltage charging

(D) Charging time is lesser in constant voltage charging

37. ergeadd oS’ oo S0 o
(A) 78 TQof 367 5e5 ABoss S8 smopdocd  ERER
(B) &2 267,565 $g Mg Ds0Rg EyE800
(C) €338 3§ 503D T DT oSS0l
€336 T°§ $0%D T Dy SAKD
Keeping a battery in
(A) full charging circuit cause continuous leakage
(B) open circuited condition cause gassing problem
(C) trickle charge condition increase its life

(D) trickle charge condition decreases its life

38. 100 30000 s0d 2 wh/sec. THps 2BorHses) 358 908 Jabedd, edycd (288 e.m.f.
(8 00 Jo 2

EAE (A) OV (B) 200V @) 2v (D) 4V
* If a coil of 100 turns is linked with a flux increasing at a rate of 2 wb/sec. then
the induced e.m.f. per turn is
AoV (B) 200V C) 2V (D) 4V
A -12- K
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5o7ye36 96y @0yeS B’ sobake 53R 26y H’ Sogs $02030 Jgiptr 307 &otwol
(&) ey @omred’ SEVIT 60600 EAE

(B) &) @romrod’ SE¥or €0t B

(C) edoiy 5000k Hody Frogre So§ SoForT &0e200d

(D) oy 508050 Soy Froare $a65; HEVOT &0t

zlhe relation between magnetic flux density B’ and magnetizing force ‘H’ is
ways

(A) linear in all regions

(B) non-linear in all regions

(C) linear between unsaturation and saturation regions

(D) non-linear between unsaturation and saturation regions

Devsptse (retentivity) Goot, afooes

(A) Wb/m? (B) A/m? (C) A/m (D) Wb/m
The unit of retentivity is
(A) Wb/m? (B) A/m’ (C) A/m (D) Wb/m

1-0 AC 35:0e5 S oo, o 3550 25 ms eoood, SRS F&EE % 35 Tfpad dooy, so
5556 o 2

(A) 100 ms (B) 12.5ms (C)- 25 ms (D) 50 ms

If time period of a 1-¢ AC input voltage is 25 ms, then the time period of half
wave rectifier with resistive load is

(A) 100 ms (B) 12.5 ms (C) 25 ms (D) 50 ms

DC o500 G3uo), §:rrods Srare Sopy 8 ®00d, oD éo&oﬁ 3080%0 I go&oﬁ @R 0Rs
Dogs 9

(A) 8 558050 2 SEHT (B) 2 $:00%0 8 S60r ‘E‘%‘%‘
(C) 4 558050 2 SERRMT (D) 2 558050 4 S SRz

If no. of parallel paths of a DC machine is 8, then in lap winding and wave
winding the number of brushes are

(A) 8 and 2 respectively (B) 2 and 8 respectively

(C) 4 and 2 respectively (D) 2 and 4 respectively

o> 26 DC 3025E, 8, 03566y Booty, Zrsedsso 45 Hz o008, aboo Gty Iro DE35H
DY DEMEB 2

(A) 45 (B) 22.5 (C) 1350 (D) 1500

In a four-pole DC machine, if frequency of flux reversals is 45 Hz then the speed
of the machine in revolutions per sec. is

(A) 45 (B) 22.5 (C) 1350 (D) 1500
-13- K
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44, Qo303 %eaoooé, L 506555 Booty, Freesp, A @30 o $5¢S08 @roso Sodoko V &30 Sogd Y

Ko @ond H0 e.m.f. Dok Jod 2

s

(A) $LV/A (Bf $LVA (C) oLA/V (D) ¢LAZ/V?

If ¢ is the flux, L is length of conductor, A is area of cross-section and V is
velocity of conductor, then induced e.m.f. is given by

2,2 B
(A) $LV/A (B) ¢LVA (C) OLA/V (D) ¢LA™/V E@

45. 1000 r.p.m. 5¢ S e de 8065 sed e.m.f. 3 oot 200 V S0k sG55 TP
@& 10 V. &53¢ o 3o 1200 r.p.m. 2ONS, TR 8 (GO 56 & BaHedd e.m.f. Jod
&0e2008 ? g

0n, 0 (Ay 200V (B) 230V (€) 240V (D) 250V
$ A dc shunt generator running at 1000 r.p.m. generates an e.m.f. of 200 V and

its armature voltage drop is 10 V. If its speed increases to 1200 r.p.m. then the
generated e.m.f. at the same drop will be

(A) 200 V (B) 230V (C) 240V (D) 250V
46. 220 V 35:5e5 Sde 500050 16 A 50085 550 2.5 KW Q (arod 1-0 567, 525 GBooty 9356 56
ESof sS0cs.
/B
(A) 0.3 %%?ﬁ (B) 0.71 (C) 0.78 (D) 0.22

Find the power factor of a 1-¢ circuit that absorbs 2.5 kW for a 220 V input
voltage and 16 A current.

EAE
(A) 0.3 (B) 0.71 (C) 0.78 (D) 0.22 Eﬁ:ﬁ
47. 25 Qo o8 960 v = 150 sin 377t SF2 $OA &oex0d wod o $0od 3e5edS 330
S0 as0cs.
|A) 450 W (B) 1600 W (C) 900 W (D) 800 W

A 25 Q resistance has a voltage v = 150 sin 377t. Find the power dissipated.
(A) 450 W (B) 1600 W (C) 900 W (D) 800 W
48, $ETES o0 FRosnds S5 B p = 6 + 4 cos2(2t + 30)W T 33500, Fapiseds KoY

¥ E3ofTSod.
BB A) 10W (B) 14 W C) 2W (D) 22 W
* The instantaneous power absorbed by a circuit is p = 6 + 4 cos2(2t + 30°)W.
Find the peak power.

(&) 10 W (B) 14 W C) 2W (D) 22 W
A -14- K
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1-¢ ac $675e5 GBooky 936 556 E°E O &dy5ycsd o) 30000 86

SO &yytd IS0

(A) 3038, 30csgS (B) By, Bargs E: i

(C) 6airES, TS (P) 30cs§S, TINeS

Power factor of a 1-¢ ac circuit is zero when load is purely , and unity

when load is purely
(A) Capacitive, Inductive (B) Resistive, Reactive

(C) Reactive, Resistive (D) Inductive, Capacitive

2058 KoeS'S 88a8 (SCR) D Botko 360 Soonsm SreEsisnso a8 5850 €30
(A) PNP )35 NPN (¢3yg6 GBoo%, &icr0e38 §3§ Sahesdsisd
(B) NPN )36 PNP 50336 3ok esc0e3d §3§ Sabewds

(C) PNP ry$6 NPN ey 855 3§ Sosedod

(D) PNP er0y36 NPN ey GBooty, 50568 £3§ Soverdtod

A Silicon Controlled Rectifier (SCR) can be viewed as a combination of two
transistors, where the collector of

(A) PNP transistor is connected to emitter of NPN transistor

(B) NPN transistor is connected to emitter of PNP transistor

(C) PNP transistor is connected to base of NPN transistor

(D) PNP transistor is connected to collector of NPN transistor

30500 Go%y, g F5E U = 4900 @00B S5 56 Bosk), Sorg FeES
Z)gooooaso&.

(A) 154 x 10° H/m (Bj 616 x 10°° H/m
(C) 616 x 10 H/m (D) 154 x 107 H/m

Determine the absolute permeability of a transformer core, which is made up
of a particular type of iron of relative permeability o= 4900.

(A) 154 x 10™ H/m (B) 616 x 107> H/m
(C) 616 x 107" H/m (D) 154 x 107 H/m

-15- K



101213 - 2023 @

52. 5 B0t 3RS SaLIEEre Y, by PO JomEod.

X EIAE
(8) |36 -eaHImpeso (i) |eorrso a@

(b) | ror-esaompso | (i) | Bofiyoso

(c) Cﬁoﬁ“—@o.‘b@"boéo (iii) | 30d
) S

(v) |36

(vi) [®8c%0
(A) (a) - (v); (b) — (iii); (c) - (i) (B) (a) = (iv); (b) — (vi); (c) — (1)
() (a) - (v); (b) - (ii); (c) — (iii) (D) (a) - (iv); (b) = (vi); (c) — (iii)

Choose a wrong match of the following magnets.

(a) | Ferro-magnet [ (i) | Gold =

(b) | Para-magnet | (ii) | Magnesium
(c) | Dia-magnet (iii) | Silver

(iv) | Cobalt

(v) | Nickel

(vi) | Lithium

(&) (a) = (v); (b) - (iid); (c) - () (B) (a) - (iv); (b) = (vi); (c) - ()

(C) (a) - (v); (b) - (ii); (c) — (i) (D) (a) - (iv); (b) — (vi); (c) - (iii)

3-0 Beprr $3§ Baowds $°66" V50010 I, 85 FGe2 5000t 9 53061 Godado. o3 &G 3-¢
26 3§ Fanadd HO TGE 50050 B8 §00e00 IO GoLraD ?

(A) J3 V, 308a%o J3L (B) V, /3 500050 1/\3
(EY BV 00 I,/ 3 (D) V, /3080 B3I,

\A and I, are line voltage and phase current of 3-¢ delta connected load. When
the same load is converted to 3-¢ star connected load, the phase voltage and
line current are

(A) V3 V, and J3L, EAE B) V,./ V3 and I/ J3

(C) V3 V, and I,/3 ez (D) V, /3 and |31,

-16- K
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54. 4 3B S50 SDADY pBoF0nEE TEE Bary, BAALS @R SSSod.

(A) 0.314 rad/sec. 4B 3.14 rad/sec. 00
(C) 1.57 rad/sec. (D) 0.16 rad/sec. .
Find the radian frequency of sinusoidal voltage that have the time period of
4 sec.
(A) 0.314 rad/sec. (B) 3.14 rad/sec.

g@ﬁl (C) 1.57 rad/sec. (D) 0.16 rad/sec.

55. 1-H 50c%6 50000 1 PF 30esb 2656° 53§ Sabesds 1000 rad/sec. 5¢ 380 3023,

Jo8 7
(A) 2% Q (B) —j1000 Q (C) j1000 Q (D] 1000 Q

What is the total impedance at 1000 rad/sec. of a 1-H inductor and a 1 pF
capacitor connected in series ?

(A) Zero Q (B) —-j1000 Q (C) j1000 Q (D) 1000 Q
56. Gep SRESE Srveds O et BhRSHE" 1 QWP 80N &0k, 6 KIS’ $0wods 8 Buyoys
ESoRTeS08s 2
=
5 3-0
(A) (1/3) Q (B) (1/6) @ (C) (1/2)Q (D) (1/12) Q
If each of the six resistances shown in delta connection has a resistance of
1 Q, find the corresponding each resistance in star connection
Vhen
and

%

(4) (1/3) Q (B) (1/6) Q €) (1/2)Q (D) (1/12)Q
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57. 36,56y B 500050 D eosser $3E +10 V e2028, 3 Q 500050 4 Q oo @3fes 2o 2

58.

59.

A—2""—B

20 EEI
303 240 Ene
D C
(A) 2.5 A 550050 2 A S8R (B) 2 A 00k 2.5 A SET
4€) 2 A 306050 2 A ST (D) 3.33 A 50005 2.5 A SERM

If the voltage across the terminals B and D is +10 V, the currents through 3 Q
and 4 Q are

NN
A AP B
303 34Q
D C
(A) 2.5 A and 2 A respectively (B) 2 A and 2.5 A respectively
(C) 2 A and 2 A respectively (D) 3.33 A and 2.5 A respectively

BIFOBLOIT eRROFTROTRES FARB D5 BP0 HSrSRS ESHS (2/9) Q. Fe38°
2850 HERE® esotoEoNeGSHED RPN (D063 Jod ? )

(A) 40.5Q (B) 202.5Q (C) 10Q 3 2Q

Nine equal resistances connected in parallel has an equivalent resistance of (2/9) Q.
What is the equivalent resistance when five of them are connected in series ?

(A) 40.5Q (B) 202.5Q (C) 10Q (D) 2Q
3-8 3R GBao, BSOS oSS JotoE’od. EIEEI
(A) 85 DS Qg g0 gm0 DS Gook, T590 K03 JEoyS X

(B) 8000 26 @0t F7500 S S Bk, 590 Kol3 BEIe &otaod

(C) el S G0k Fesd B 15 ook, e 503 BESIT 08008

B 500 28 i 3 25 eid Kol P

Choose the correct choice of a 3-pin plug

(A) Diameter of live pin is more than the diameter of earth pin
(B) Diameter of earth pin is less than the diameter of neutral pin

(C) Length of neutral pin is less than the length of live pin
(D) Length of earth pin is more than the length of neutral pin

gocé‘gsé ooty e L’ SoBad T TR0 T’ 41.4% 008, o AE'¢ES R’ v
S;B&08.
(A) 0.5R (B) 2R (Cy 1.414R (D); 0.707R

If length ‘L’ of a conductor and its radius ‘r’ increased by 41.4%, then its
resistance ‘R’ will be changed to

(A) 0.5R (B) 2R (C) 1.414R (D) 0.707R
-18- K
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230 V DC 5065 B:586:5 G008, 28 1560755 Sk deaviioed (96 8500w BBE K08 2 V 3585
Fi3008. 85 255805 Oy BBE Srfo 5T DS BADBT D> o Jod FFe ex0e5 T3od 2
(A) 203 (B) 2 VEBays (C) 2Vsedaws (B 2V 5 ssrso

The open circuit voltage of a 230 V DC shunt generator running at rated speed
without any excitation is 2 V. If it is run with no excitation at more than rated

speed then the open circuit voltage is
(A) zero (B) more than 2 V (C) less than 2V (D) equalto2V

DC 307e8 A :dedes Jrely Qo DoSEY) ? EAE
(A) BEHo" TS50 oS0 T (B) 6507 SPER Shotio oo (D]1 03
(C) §p§ 500e50 Bhowtio o o i)cé E00L5 Boio oo

Speed of a separately excited DC motor can be increased by

(A) increasing supply frequency (B) decreasing supply voltage

(C) decreasing field current (D) increasing field current

PS5 90 ek 50550 @b

(A) $pen Bom Gasrde ¥8D &8 M8 Sood 2F 08 BdBe0 ,

(BY $80e58° 576y Btooc S o Bor S8 Fgod %

(C) S8 582 B%06° B0 ML Baw BE3S B3od ©

(D) 28 507,565 3008 SoFETI8 508 #80 2093500

A Transformer is a device that

(A) Transfers active power from one circuit to another without losses

(B) Step up or Step down the voltage without a change in current

(C) Step up or Step down the current without a change in voltage
(D) Transfers apparent power from one circuit to another

200 @68 Soeoen Soddt 70.7 mWb $83 $5) oss SOAS 50 Hz, 1-9, eryprsd
B, 503, 208 e.m.f. J B§osod.

(A) 4.00 kV (Bf 3.14 kV (C) 2.83 kV (D) 4.44 kV
Calculate peak induced e.m.f. of a 50 Hz, 1-¢ transformer having 200 primary
turns and a maximum flux density of 70.7 mWb.

(A) 4.00 kV (B) 3.14 kV (C) 2.83kV (D) 4.44 kV

1-¢ erSydreb ook, auosos S o Sgo NG 0.9. @b (3/4) S &G 36 Godl, edped
o8 %G DS E'E Joos o 7

(A) 0.75 (B) 0.625 () 1.6 (D) 1.33

If ratio of copper loss to iron loss of a 1-¢ transformer is 0.9 at (3/ 4)th

full-load, then the same ratio at full-load is
(A) 0.75 (B) 0.625 (C) 1.6 (D) 1.33 @2

-19- K
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PART - B
CRM e0é] -
(9)/ Customers Rarely Matter i

(B) Can’t Remember Much
(C) Communicating Random Meaning
(D) Customer Relationship Management

CRM stands for

(A) Customers Rarely Matter

(B) Can’t Remember Much

(C) Communicating Random Meaning
(D) Customer Relationship Management

Boorrerd’ e7¢ eSBLOH ©HHG JodS (B¥o DB 2

(A& e3R8 (B) 0§ Sotorh>

(C) Borssd (D) 82339

The following is a place in Telangana known for Buddhist relics.
(A) Phanigiri (B) Maddi Madugu

(C) Kandakurti (D) Bijinepalli

s OE EB MiSoed 63§ KowoPodsd

(A) oh (B) erSyes (C) 3sosw (D) aodda%o
Khetri mines in Rajasthan are related to :

(A) Copper (B) Bauxite (C) Iron (D) Uranium
8858 26 dedoistio 8585 es8' gD L0, (HRETO (LTI JU° GOLTO. SR
(K) 58 Sy (B) Sev oo 50

(C) eseggo (D) &y0asr

Depletion of the ozone layer causes damage to human health. Negative effects
include

(A) Skin cancers (B) Osteoporosis
(C) Dyspepsia (D) Diphtheria

-20- K
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70.  Botk vosyoe @50 &8 26382087 eig® 60,000. SO0 Sode e 3O 00k Sose s
5058708 5% 5500100 B0t SOSE S $o5HTVE 10% SNoB. (5398 e8>
(A) 55,500 (B) 51,000 B
(€) 51,300 (D) 54,150 El%:i.

The population of a town 2 years ago was 60,000. Due to migration to cities, it
decreased by 5% per annum in first year and 10% per annum by second year.
The present population is

(A) 55,500 (B) 51,000
(C) 51,300 (D) 54,150

71. 9 530D ooer 60 Soshore e AsossorT T ?

mag B ROeraiN (B) perssoEs-

'@% (C) KessdBS (D) Eorsses-1I
Which Kakatiya King ruled continuously for 60 years ?
(A) Mahadeva (B) Prataparudra-I
(C) Ganapathideva (D) Prataparudra-II

72. 55 800 TIE A5t 2023 KOSBHITVE “SHETRES GRS (e S 2

(A) S. L. 85, 4B) B. M. M. {53

(C) e} esaooPe0 (D) 53588 D 5836

Who among the following is NOT a ‘Padma Bhushan’ awardee for the
year 2023 ?
(A) S. L. Bhyrappa (B) B. M. M. Keeravani 3
(C) Vani Jairam (D) Kamlesh D Patel

73. 308 T8 x50 FES0ER Soxresseo’ 20 ?

(A) S50 (B) Jrowre
(C) mrogroe (D) Son&
Which of the following was the most powerful ‘mahajanapada’ ?
(A) Koshala (B) Panchala
C) G D
(C) Gandhara EHaE (D) Magadha
(O]+crs
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9 ot FED o 2.8 38 §o e Fper 1 Do Beseny o 57g08” Higed dotwod. S
ook, (FroTrl) EXoR"S0d.

1> 1m

A 19 m? (B) 40 m? (C) 17 m? (D) 21 m?

A square field of 9 m long is surrounded by a path 1 m wide on all sides. Find
area of the path.

AT >1m
g
(A) 19 m? (B) 40 m? (C) 17 m? (D) 21 m?

75. 3558 f-0d ey 2022-23 & $od TIE° HO groudtods ‘8550 0EB06’ e

76.

ROOE0H 2

A TS (B) IT-H (C) HSc. (D) §-wS b6

In the National Start-up Awards 2022-23, which of the following won the
‘Best Incubator in India’ award ?

(A) T-Hub (B) IIT-H (C) IiSc. (D) Start-up Bihar
(99055 TgRoMT $o855 O Bered’ Sien T e SEPSOMT &otro. qan
(A) D0 26 S50BA%0 253 22 )

(B) &S 22 306050 HDS 28
(C) ©5eb 18 Sobosw e5:5619

(D) 23028 23 30800 50y 21
On what days do we have equal days and nights all over the world ?

(A) On 26™ February and 22" July

(B) On 22" June and 28" April
(C) On 18™ October and 19" January
(D) On 23" September and 21°* March

-22- K
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TT7.  Jsote Domye0 $98A 5733 #0608 SYao epEsco 550 308 736" I DS eSsso 7
(A) 2625 By, - (B) 26205 C (C) 2WEK  ABJ 26205 D

Which of the following vitamin is essential for bone formation and retention of
calcium in the human body ?

(A) Vitamin B, (B) Vitamin C (C) Vitamin K (D) Vitamin D

78. ongtss B 5 s
(A) D608 300050 T BTV GIVEBOSEDS K0TS
(B) O EITS &30P SrHTeo

E%% (C) 502D Roerded Tercrevenr SoTed eSo%0erEd
R

(D) @A &8 eseore HSOKeITE0
Customers who complain want
(A) To be heard and have their experience validated
(B) Something for nothing
(C) To be made majority shareholders in the company
(D) To vent just for play

79. SO0 D e D3 (5088 06582 220R08 ?
(A) o3> & BHeE> (B) FEFSo
(C) 8 (D) o3
The first world conference on the environment was held at : E.'%Eliii
(A) Rio de Janeiro (B) Stockholm Ee?
(C) Geneva (D) Johannesburg

80. o @od ed8” D EAe3 610 G.O. esgrdorr 308y 0S DIOE 2
(A) AETD (B) &rgs
(C) BersS5 3G (D) (eaes S0
The 610 G.O. was based on the report submitted by the following committee :
(A) Girglani (B) Bhargava
(C) Jai Bharat Reddy (D) Pranab Mukherjee

% S
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